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" Consider the following three-dimensional
figure :

How many triangles does the above
figure have?

(@) 18 (b) 20

(c) 22 [d) 24

Consider the following sum :
s+le+2a+aI+el=21e

In the above sum, » stands for

(a) 4 () 5
e} 6 (d) 8
Consider the following pattern of

numbers :

8 10 15 13
6 5 T 4

A = [ ] o

CSAT(3)

n How many diagonals can be drawn by
joining the vertices of an octagon?

(a) 20 (b) 24

fe) 28 (d) 64

H The figure drawn below gives the velocity
graphs of two wvehicles A and B. The
straight line OKP represents the velocity
of vehicle A at any instant, whereas
the horizontal straight line CKD
represents the velocity of wvehicle B
at any instant. In the figure, D is the
point where perpendicular from P meets
the horizontal line CKD such that

pp=11D:
2
il P/
c VehicleB K A
> [ t
E ) B i
< & E
2 Time L

What is the ratio between the distances
covered by vehicles A and B in the time
interval OL?
@ 1:2 b) 2:3

e} 3:4 fd 1:1
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Directions for the following 4 (four) items :

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

Global population was around 1'6 billion in
1990—today it is around 7-2 billion and
growing. Recent estimates on population
growth predict a global population of 9:6 billion
in 2050 and 10-9 billion in 2100. Unlike Europe
and North America, where only three to four per
cent of population is engaged in agriculture,
around 47 per cent of India’s population is
dependent upon agriculture, Even if India
continues to do well in the service sector and
the manufacturing sector picks up, it is
expected that around 2030 when India
overtakes China as the world’s most populous
country, nearly 42 per cent of India’s
population will still be predominantly
dependent on agriculture.

7. Which of the following 1s the most
legical and rational inference that
can be made from the above passage?

(a) Prosperity of agriculture sector is of
critical importance to India.

{b) Indian economy greatly depends on
its agriculture.

fe) India should take strict measures
to control its rapid population

growth.
fd} India’s farming communities
should switch over to other

occupations to improve their
economie conditions.

CYRF-5-TXLD/50A
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CSAT (5)

Passage—2

Many pathogens that cause foodborne illnesses
are unknown. Food contamination can oceur at
any stage from farm to plate. Since most cases
of food poisoning go unreported, the true extent
of global foodborne illnesses is unknown.
Improvements in international monitoring have
led to greater public awareness, yet the rapid
globalization of food production increases
consumers’ vulnerability by making food harder
to regulate and trace. “We have the world on
our plates”, says an official of WHO.

B. Which of the following is the most
logical corollary to the above passage?

(a) With more options for food come
more risks.

fb) Food processing is the source of all
foodborne illnesses.

fcg We should depend on Ilocally
produced food only.

(d) Globalization of food production
should be curtailed.

Passage—3
I am a scientist, privileged to be somebody who
tries to understand nature using the tools of
science. But it is also clear that there are some
really important questions that science cannot
really answer, such as : Why is there something
instead of nothing? Why are we here? In those
domains, | have found that faith provides a
better path to answers. 1 find it oddly
anachronistic that in today’s culture there

[ P.T.O.
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seems to be a widespread presumption that

scientific and spiritual views are incompatible,

9, Which of the following is the most
logical and rational inference that
can be made from the above passage?
(a) It is the faith and not science that

can finally solve all the problems of
mankind.

(b) Science and faith can be mutually
complementary if their proper
domains are understood.

{c) There are some very fundamental
questions which cannot be
answered by either science or faith.

(d) In today’s culture, scientific views
are given more importance than
spiritual views.

Passage—4

Though I have discarded much of past tradition
and custom, and am anxious that India should
rid herself of all shackles that bind and contain
her and divide her people, and suppress vast
numbers of them, and prevent the free
development of the body and the spirit; though
I seek all this, vet | do not wish to cut myself off
from that past completely. I am proud of that
great inheritance that has been and is, ours
and | am conscious that 1 too, like all of us, am
a link in that unbroken chain which goes back
to the dawn of history in the immemorial past
of India.

10. The author wants India to rid herself of
certain past bonds because

(a) he is not able to see the relevance
of the past

(b) there is not much to be proud of

(c) he is not interested in the history of
India

(d) they obstruct her physical and
spiritual growth

CYRF-S5-TXLD/S0A

Directions for the following 3 (three) items :

The following three items are based on the
graph given below which shows imports of three
different types of steel over a period of six
months of a year. Study the graph and answer
the three items that follow.

o 44
T 4zj
3 40
E 38
w 301
E 341
= 32 -
&
= 304
g 28-
g 26 - H
24 4 "
2 ]
May June
OCoil ($ 320) [ Sheet ($256) E Scrap (€ 175)

The figures in the brackets indicate the average
cost per ton over six months period.

By how much (measured in thousands of
tons) did the import of sheet steel
exceed the import of coil steel in the first
three months of the year?

fa) 11 (b) 15
e} 19 (d) 23
What was the approximate total value

(in $) of sheet steel imported over the
six months period?
(a) 45,555 (b) 50,555

(e) 55,550 (d) 65,750

m What was the approximate ratio of sheet
steel and scrap steel imports in the first
three months of the year?

(@ 1:1 B 12:1

(¢) 14:1 (d 16:1

[ P.T.0.
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Directions for the following 3 (three) items :

Rotated positions of a single solid are shown
below. The various faces of the solid are marked
with different symbols like dots, cross and line.
Answer the three items that follow the given
figures.

& e Lol X

() (i (1) (1v)

What is the symbol on the face opposite
to that containing a single dot?

fa) Four dots
{b) Three dots
fc) Two dots

fdj Cross

m What is the symbol on the face opposite
to that containing two dots?

fa) Single dot
{b)  Three dots
{c) Four dots

(d) Line

I8 What is the symbol on the face opposite
to that containing the cross?

fa) Single dot
(b) Two dots
fe) Line

(d) Four dots

CYRF-5-TXLD/50A
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CSAT (9)

Directions for the following 4 (four) items :

Read the following passage and answer the four
items that follow. Your answers to these items
should be based on the passage only.

Passage

It is no longer enough for us to talk about
providing for universal access to education.
Making available schooling facilities is an
essential prerequisite, but is insufficient to
ensure that all children attend school and
participate in the learning process. The school
may be there, but children may not attend or
they may drop cut after a few months. Through
school and social mapping, we must address
the entire gamut of social, economic, cultural
and indeed linguistic and pedagogic issues,
factors that prevent children from weaker
sections and disadvantaged groups, as also
girls, from regularly attending and
complementing elementary education. The
focus must be on the poorest and most
vulnerable since these groups are the most
disempowered and at the greatest risk of
violation or denial of their right to education.

The right to education goes beyond free and
compulsory education to include quality
education for all. Quality is an integral part of
the right to education. If the education process
lacks quality, children are being denied their
right. The Right of Children to Free and
Compulsory Education Act lays down that the
curriculum should provide for learning through
activities, exploration and discovery. This
places an obligation on us to change our
perception of children as passive receivers of
knowledge, and to move beyond the convention
of using textbooks as the basis of examinations.
The teaching-learning process must become
stress-free; and a massive programme for
curricular reform should be initiated to provide
for a child-friendly learning system, that is
more relevant and empowering. Teacher

[ P.T.O.
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accountability systems and processes must
ensure that children are learning, and that
their right to learn in a child-friendly
environment is not violated. Testing and
assessment systems must be reexamined and
redesigned to ensure that these do not force
children to struggle between school and tuition
centres, and bypass childhood,

17. According to the passage, which of
the following is/are of paramount
importance under the Right to

Education?
1. Sending of children to school by all
parents

2. Provision of adequate physical
infrastructure in schools

3. Curricular reforms for developing
child-friendly learning system

Select the correct answer using the code
given below,

fa) 1 only
() 1 and 2 only
fc) 3 only

(d] None of the above

18. With reference to the above passage, the
following assumptions have been made :

1. The Right to Education guarantees
teachers’ accountability for the
learning process of children,

2. The Right to Education guarantees
100% enrolment of children in the
schools.

3. The Right to Education intends to
take full advantage of demographic
dividend.

CYRF-S-TXLD/S0A
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Which of the above assumptions
is/are valid?

fal 1 only
(b) 2 and 3 only
fe) 3 only

{d) 1,2 and 3

19. According to the passage, which one of
the following is eritical in bringing
quality in education?

(a) Ensuring regular attendance of
children as well as teachers in
school

() Giving pecuniary benefits to
teachers to motivate them

fc) Understanding the socio-cultural
background of children

{d) Inculcating learning
activities and discovery

through

20, What is the essential message in this
passage?

fa) The Right to Education now is a
Fundamental Right.

(b) The Right to Education enables
the children of poor and weaker
sections of the society to attend
schools.

(¢) The Right to Free and Compulsory
Education should include quality
education for all.

{d) The Government as well as parents
should ensure that all children
attend schools.

[ P.T.O,
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21. 3¢ MUMBAI &% fou %2 ® Lsuxve, 4

DELHI # fo7 %2 &
(a) CCIDD (b) CDKGH
fe) CCJFG (d) CCIFE

22. 9@ RAMON #I 12345 % %9 #F @
DINESH #! 675849 & &9 #§ foan wran 2,
@ HAMAM =1 fore w9 8 forar smom?

(a) 92233 (b) 92323
(c) 93322 (d) 93232

23. MR X, 3 -1FdAaq v, 13 1
HAE AR @ X2-y?2 fefafas § @

fors = | g7
fa) -9 3R 1 (b) -9 #m -1
fe) 0 38 (d) 0 3R 9

24. X 3 Y, | ¥ FeE wAiE § A v, X9

=g #| Frefflas 3 @ FR-w =@ 98 9=

1 Frefia e 27
(a) XY b) X|Y
) Y/X (@) (X+Y)/XY

Frafefea 2 (21) vvaiv + o i .

Frfafan sl 1 ufey o 6% 9w oM @@ 3
YT % I S|

9: dAlbwfEl A, B, C, D, E 3R F % R fdt
e @ve i A5l 6 TR R : B 3R c A F
FAidd, W FEie @e § yEy =@ @ e
oMl AR R, N A F FEfed ufeEi i A s R
E 3n F % #Eien nfeai % fauda ol w € feg
% Fied wA-amA Td #| C i D F wafe
AHA-HHA 2| E # FE@E fFm ow T 2 P w
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e e § A F Frferm ¥ o am g wd
o4 7 2

25. R E ® FEied # Tfean i e g w0
A3 ®, @ I =i A P w27

fa) A (b) B
fe) C (d) D
26. F#1/% Feeem v 99 #/87
fa) ¥4 A (b) A ¥R D
(c) =@ C (d) B3R C
Frefrfaa 7 (wm) weaiw & fore frdar

¥= fir W uw afedEi #) afer sin gfs=sdd F 99
HA I W % I A 3 T F A I
Had 7 gfedal 7 A smafa w5 =l
gfege—1

‘HevE (ARTEHTR)’ fedh wiftea 6 39 e &
BE Hl W wfrm f wren F3 awen = R, Gus
RumTEEY IAEED f wgl Tl @ s ) 9ui 9w
el WHE: e, Abyen AR Ao w4 99 g
2, auifu oimd swEREyl 1§ off T wE aeE TR
B WhM % AFE-uifE e wiiEE @ sfew
(suratmiz) fafyy w4t 3 fw w=%a 2 : @fm awE,
e 5 3w F oddm aa d ¥ qfy w1 seofvam, S
i 20 % sy oin o ‘ehwifa’ a1, sewond
Bt AR ferfl 3w wewm 4 ? i e m Ew, S
% wra % #ft feFl W aaefa- s ¥ A B
3l o /g A v v FF F AR Al o
M T2 B | SRS w1 U gE g et e §
sfogpe fEddl v weftm war o dwwl A wifE
¥ HEftd R aeEE ¥ ogwfomm frear ww R
HAYETFA TE F A | BN 9 e A9 &
FHU 394 B 8| IwsfeEd ufimn, s s efim
AR A oTE I=ed w0 W 8| SwmRead W e
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21. If LSIXVC is the code for MUMBAI, the
code for DELHI is
fa) CCIDD (b) CDKGH
fcj CCJFG {d) CCIFE

22, If RAMON is written as 12345 and
DINESH as 675849, then HAMAM will
be written as
(a) 92233 (b) 92323
(e} 93322 fd) 93232

23. If X is between -3 and -1, and Y is

between -1 and 1, then X2 -Y?2 is in
between which of the following?

(b)
(d) O and 9

fa} =9 and 1 -9 and -1

fe} O and 8

24, X and Y are natural numbers other
than 1, and Y is greater than X. Which
of the following represents the largest

number?
(a) XY b X[Y
e Y /X {dl (X+Y)/XY

Directions for the following 2 (two) items :

Read the following information and answer the
two items that follow.

The plan of an office block for six officers A, B,
C, D, E and F is as follows : Both B and C
occupy offices to the right of the corridor (as one
enters the office block)] and A occupies on
the left of the corridor. E and F occupy offices
on opposite sides of the corridor but their
offices do not face each other. The offices of C

and D face each other. E does not have a corner

CYRF-5-TXLD/50A
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office. F's office is further down the corridor
than A's, but on the same side.

25. If E sits in his office and faces the
corridor, whose office is to his left?

(a) A (b) B
e C (d D
26. Who isfare F's immediate neighbour/
neighbours?
fa) A only (b)) Aand D
fc) C only (dj Band C

Directions for the following 7 (seven) items :

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

‘Desertification” is a term used to explain a
process of decline in the biological productivity
of an ecosystem, leading to total loss of
productivity. While this phenomenon is often
linked to the arid, semi-arid and sub-humid
ecosystems, even in the humid tropics,
the impact could be most dramatic.
Impoverishment of human-impacted terrestrial
ecosystems may exhibit itselfl in a variety of
ways : accelerated erosion as in the mountain
regions of the country, salinization of land as
in the semi-arid and arid ‘green revolution’
areas of the country, e.g., Haryana and
western Uttar Pradesh, and site quality
decline—a common phenomenon due to general
decline in tree cover and monotonous
monoculture of rice/wheat across the Indian
plains. A major consequence of deforestation is
that it relates to adverse alterations in the
hydrology and related soil and nutrient losses.
The consequences of deforestation invariably
arise out of site degradation through erosive
losses. Tropical Asia, Africa and South America

[ P.T.O.
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Hdi R A e s, M ST F
Ia oy S 9 SE qfa-vEd gl F oo
forarers @ @ =g @ § (Iereond, wrda g2 4 v
FErE—rn 3 FEgd F meEm /)| udd & e 1,
qad 31 F FH A T @ SARA-aR, Rt 49
i s wel AR sTieEa S ARdl & gEa W
&g F9-3r=are § s 3 gfEdE = B o w2
UF AYAH GO, e % AW @ BN A -
Fref 1 safEm d 9 W 9gaE B En ¥
T 3 arel 6 arerfees fom aega % Fent ¥
|14 AW 90 aER SIS F HR TE-aETE @
®H Tl afd F 9 | R, @ 9m-anme R o s
yfEEEY BH 9iell 9@ Scaedhar 1 g, 6 %
oo o W TR-vaE (RedrR) & o H-me F
T TN BN F TRV B ™E wEYEA F ARm g
2 : gm e, sveen @ i smd e #@
uftadd, 3 g9 ufomwasy, i wgeE & b
Foam % fom smavas @@, s s fu9-FE IwEA
4 g 916 |

27. W wi=t & e, frafafaa 4 & s8-8
TH-3=2EA § AT g™ * qftony 87

Iufgar 1 w7l
FUgFa Bt Afet i

1
2
3. &Y I W wfiwa yvE
4. vingee i wifa

A2 fog e 2 1w RO IR
(a) Faa1, 233

(b) %am 2, 3 30 4

fc) Fad 1 3N 4

fd 1,2 334
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28. T Ui=dE @, Fefofas 4 @ f¥9-w/2 g

29.

frerd (Fo5tm) frwren s w=a 2/Fem =
EETE X

1. A % FRV AE F AP ¥ 9fEade
B g% R

2, uf F wEviives dae o Gramrem
& HO gl 2

3. WEFl H W wmUE Hi-we,
JwERad R, sAE s <Rm
sfian & wevEA 1 W@ FR R

= w2 =1 w@m I g
(@) Faa 1

(b) FaE 1 3R 2

(c) ad 2 3R 3

(d) T H q F1g oft 7 e 7 2

TevER F we A, da1 fr aft=de § ol e

T 3, Tttt gEuwomd a9 0 2

1. TEVEH, ¥ad IVEEEHY B 6 UE
T2 B

2. 9@ ¥R TEYE, TFeM % HEd
o 81

IgE A A FE-H qEuRen/Earemd 3y
B/&7

(@ a1

(b) FAH 2

fe) 1 3 2
[d ad1#ATTH 2
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INSTITUTE FOR IAS/IFoS EXAMINATIONS

have the highest levels of erosion. The already
high rates for the tropics are increasing at an
alarming rate (e.g., through the major river
systems—Ganga and Brahmaputra, in the
Indian context), due to deforestation and
ill-suited land management practices
subsequent to forest clearing. In the mountain
context, the declining moisture retention of the
mountain soils, drying up of the underground
springs and smaller rivers in the Himalayan
region could be attributed to drastic changes
in the forest cover. An indirect consequence is
drastic alteration in the upland-lowland
interaction, mediated through water. The
current concern the tea planter of Assam has
is about the damage to tea plantations due to
frequent inundation along the flood-plains of
Brahmaputra, and the damage to tea plantation
and the consequent loss in tea productivity is
due to rising level of the river bottom because of
siltation and the changing course of the river
system. The ultimate consequences of site

alteration

L p- R R0

Aasartifinatinn aras
Lol LRl LA B

in available water and its quality, and the
consequent decline in food, fodder and fuel-
wood vyields essential for the economic
well-being of rural communities.

enil rl-g’_rra datinn

ALAAE A e T Rt et

27. According to the passage, which of the
following are the consequences of
decline in forest cover?

1. Loss of topsoil
2. Loss of smaller rivers

3. Adverse effect
production

on agricultural

4. Declining of groundwater

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only
(b} 2, 3 and 4 only
fcf 1 and 4 only
([d 1,2, 3 and 4

CYRF-5-TXLD/50A
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28. Which of the following isfare the correct

inference/inferences that can be made
from the passage?

1. Deforestation can cause changes in
the course of rivers.

2. Salinization of land takes place due
to human activities only.

3. Intense monoculture practice in
plains is a major reason for
desertification in Tropical Asia,
Africa and South America.

Select the correct answer using the code
given below.

(a)
(b)

fe} 2 and 3 only

1 only

1 and 2 only

{d) None of the above is a correct
inference

29, With reference to ‘desertification’, as
described in the passage, the following
assumptions have been made :

1. Desertification is a phenomenon in
tropical areas only.

2. Deforestation invariably leads to
floods and desertification.

Which of the above assumptions is/are

valid?
fa) 1 only
{b) 2 only

fc) Both 1 and 2

(d} Neither 1 nor 2

[ P.T.O.
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afEds—2

sear] a1 A R s w5, e
a1 WeEMed # gffee #R ¥ o wwfie
gfemfagl f fAfaga 1 dEwEsa ol = F
foru, U wow Fred 6 sravEwa @ S g, Wi ek
w4l ¥ CO, % siwia sre=an froaren &t afFa woe
g1 F fou fefi-am it Fram-afa wfFn s
A FAHE TMA H A9TE 7 wen et @ wmed
wdl @ A 7% 3 feedt =1 S emerra i, el s
I Tl § Haq I I o A wed #) adum
FHEl, Tl dN FE 9 HaE F gafien ganE
#1 g ANF FEEl (9) | S @ * R
aftd Yo FEFE F AEEdl § | SAE Ao
uiftdEt, 8 & FRifve semen-4m, fom, sy
seary TiEd ¥ 3vEl B A% T € Teed g
Sorag % wla 3 Titea @a G A § ol waw
I F e AfuE gd-ulEa SR el s
) wikfas &El % e % ddreEl, 99 R wEme
e, # ArETEEw Sl 1 oo g am %
foru @rft fore® fF seam wfeda = e fen =0
T |

30. I Uf=ae % v A Foefofas 3 4 #¥9-3,
werarg afEdq #1 AEE e F foy seee
BM?

1. Wi s Hidl 51 W

2. IETEA HTF S T5 1 EE
3. Taemm wea wEw vefal

4. WaTEd T

T fou v e 1 wEm =l I g
(@) Faa1, 2 3R 3

(b) FaA 1, 2 AT 4

fe) wae 3 3N 4

(d) 1,2, 334
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31, Wgw feae ¥ wed A, Fefafan wHawromd

ERRI R &

1. Sfifam o1 fafadieo, seay ofed =@
Al FA Il TF g9 F w9 H e
w2l

2. TURYH FHA-YEM H WG H UREY
frdl i 3% a9 wad, g 6 siR
SEEA B

IEE § B wR-d g /et 3
B/

(@) a9 1

(b) Fad 2

(¢) 1 3 2<H

(d Fd1IAAE 2

Ti=gs—a3

A i waferefla Fid 5= @ @ s o
ag=A ) AR e fadia faagg % 9. 6 e
TR #1 ¥, 78 aga At dvraand w5 8, 39 i
#F gem # N gl ) v Fwrewm wiftn wiw 6
yifa @@ 81 28 95205 F AU F 9 S S
a1 T8 wHe =iiee 6 ge o Sfew @ ) et w6
= R

22. 7w U=z ¥, fefafaa 4 3 #w-w
aaifas fiotas st aifés ey (F9)
TerTen =1 9% B
() 9= AE & @@, 96 a9 JEd
Fq@ AU AEEFWA F I
enikd

(b) wATafa i F1 "N FA F e
ol e ) Hift| w6 )

fc) TR foU IniwER F FH T S A
fea @ 2

(d) Faa 3fgF @@ w1 o3 @ W g A
M | HEEF B
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Passage—2

A diversity of natural assets will be needed
to cope with climate change and ensure
productive agriculture, forestry, and fisheries.
For example, crop varieties are needed that
perform well under drought, heat, and

enhanced CO,. But the private-sector and
farmer-led process of choosing crops favours
homogeneity adapted to past or current
conditions, not varieties capable of producing
consistently high yields in warmer, wetter, or
drier Accelerated breeding
programmes are needed to conserve a wider
pool of genetic resources of existing crops,
breeds, and their wild relatives, Relatively intact
ecosystems, such as forested catchments,
mangroves, wetlands, can buffer the impacts of
climate change. Under a changing climate,
these ecosystems are themselves at risk, and
management approaches will need to be more
proactive and adaptive. Connections between
natural areas, such as migration corridors, may
be needed to facilitate species movements to
keep up with the change in climate.

conditions.

30. With reference to the above passage,
which of the following would assist us in
coping with the climate change?

1. Conservation of natural water

sources
2. Conservation of wider gene pool

3. Existing
practices

crop management

4, Migration corridors

Select the correct answer using the code
given below,

(a)
fb) 1, 2 and 4 only

1, 2 and 3 only

fc)
(d)

3 and 4 only

1,2, 3 and 4

CYRF-S-TXLD/S0A
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31. With reference to the above passage, the
following assumptions have been made ;

1, Diversification of livelihoods acts
as a coping strategy for climate
change.

2. Adoption of monocropping practice

leads to the extinction of plant
varieties and their wild relatives.

Which of the above assumptions is/are
valid?

(a)
(b) 2 only
fe)
el Neither 1 nor 2

Passage—3

Today, the top environmental challenge is a
combination of people and their aspirations.
If the aspirations are more like the frugal ones
we had after the Second World War, a lot more
is possible than if we view the planet as a giant
shopping mall. We need to get beyond the
fascination with glitter and understand that the
planet works as a biological system.

1 only

Both 1 and 2

32. Which of the following is the most
crucial and logical inference that can
be made from the above passage?

(a) The Earth can meet only the basic
needs of humans for food, clothing
and shelter.

(b) The only way to meet
environmental challenge is to limit
human population.

fe) Reducing our consumerism is very
much in our own interest.

(d) Knowledge of biological systems

can only help us save this planet.

[ P.T.O.
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W A B 2 W frege T dn 7e Rgia fien 3,
i A ) wen affa B w1 wwd ¥ o sEw A
Refsnosfi i e e F o § 6w ¢ oin
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33. WUk AEFs F WAL F

(@) 9 F FaA G F IE D A formn
LR ET I

(b) g= FH Afa o frm 1 v R wu A
Toam ot -1 v &

(c) wfhem % uform R & fr smen @
it & Age sifsia = o §

(d) wf wf¥igw F A wga w9 J@ a0
8
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34. UF W& 99 & A T @ e ne awn w@w
A & 3R IR AW 4 R) Al wum i sifm
S 1 T () T W e
€ @ ¥ 198 wfus R, @ wum aun sifem
k! & die B

(@ 1 (b) 2

fe) 3 (d 4

35. 3 ¥Ho Hic o 91 TH 1 W F Bt $EH A
T3 1 Fe Hio Y& T B W F Fr
™ R ER W A A R w F FEw D
i 1 g BT
fal 12 () 8
fc) 6 (d) 4

36. dfe 700 # 1000 &% |+ weard foreft smd,
uH foraht demd ot § ol 82 = o,
TWIE h 3 9 7Y TRE F1 A, THE F IF 4

ag1 &7
(a) 61 (b) 64
c) 85 (d) 91

37. @R wEd < Ufwm, e < g@E qw
wEaE > 2, @ foafafas § @ FR-m o
Hed 9 BT

(@) &S > 2
(b) AEH <
) fem =i
(d) ufs > 2t
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Passage—a3

Some people believe that leadership is a quality
which you have at birth or not at all. This
theory is false, for the art of leadership can be
acquired and can indeed be taught. This
discovery is made in time of war and the results
achieved can surprise even the instructors.
Faced with the alternatives of going left or right,
every soldier soon grasps that a prompt
decision either way is better than an endless
discussion. A firm choice of direction has an
even chance of being right while to do nothing

will be almost certainly wrong.

33. The author of the passage holds the view

that

(a) leadership can be taught through
war experience only

(b) leadership can be acquired as well
as taught

(c) the results of training show that
more people acquire leadership
than are expected

(d) despite rigorous instruction, very
few leaders are produced

CYRF-S-TXLD/S0A
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34. A number consists of three digits of
which the middle one is zero and their
sum is 4. If the number formed by
interchanging the first and last digits is
greater than the number itself by 198,
then the difference between the first and
last digits is

(@ 1 (b) 2

fc) 3 (d) 4

35. A solid cube of 3 em side, painted on all
its faces, is cut up into small cubes of
1 cm side. How many of the small cubes
will have exactly two painted faces?

(@ 12 (b) 8

fc) 6 fd) 4

36. While writing all the numbers from 700
to 1000, how many numbers occur in
which the digit at hundred’s place is
greater than the digit at ten’s place, and
the digit at ten's place is greater than
the digit at unit's place?

(a) 61 (b) 64
fc) 85 (d) 91

37. If Pen < Pencil, Pencil <Book and
Book > Cap, then which one of the
following is always true?
fa) Pen > Cap
fb) Pen < Book
fc) Pencil = Cap

(d) Pencil = Cap

[ P.T.O.
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38. T Y fdwal 3 € x wft gEaE Ay

# ' gk o=, € (x+2) IR TEE A WA
e i ‘a+ 2" g A aw € (x-2) 9
edd Hl A IE A ‘a-2' ged A=)
39 Fot fof (¢ 1) foreeft 27

fa) 3x+ 3a (b] 3ax+8

(c) 9ax (d x3a*

39. fodl | # 15 @@ 2 3 20 FEh 1§

UE e W1 9@ 2 W 3 H gem o 2
e el % 20% T EE&E1 1 991 I 40% W
e 3 fod ®) ooft wan, w9l &6 34 45%
W 2 Y1 30% T Hed 3 et 2 v
AT Age9d1 UF g fememan 21 98 g 4R
e ® A 3 W 3 e R owvE R
e well & AR @ W 1 W 2 A e R,
l ares a9 R 36 el f mi
1 27
1 4

fﬂ;‘E (b) >
12

fe) 13

(d)

O on

40, 3 =ftr A 3R B fFfl afla i wde @ &)

9 H B, A ® A ® a9 39 i g9 ¥
5 W 30° F FV FA ¥ 99 A, W g
T gl @ 5 36k R fag @ s
gopE B, 7@ 98 B A fieen 21 A s B

et # F Im R, 3R 3 e 9 @
@B

41. fFh wlia # ym B9 F fow v frmfi B
40% 3% =ee| 99 it fF 38 30 3%
fierd & o1 @8 30 3% @ gl B W 2,
@ glien & sftman s fFaw 37
(@) 100 (b) 120
fe) 150 (d) 300

42. H @ F fou 10 weF amw ¥ o=
11 B 1 i ve g ® R 14 TR A
B2 v g B v i e A A R e
Fitw 3it /a1 92 9 gel A1) ol 3 v wea

+1 g 491 27

(@ 3 ) 5

fc) 6 (d) 8
Fr=afafem 6 (:) vyt & fom fEw .

4= 4 1 TRER A e @ I g oW 9w
W: WEATE o I e

A, B, C 3R D 91 % 9 9x fafim weii—p, Q, R
#n S (srfada: e w0 8§ ) A e @ %1 3 UrEw
(arferfa: 3¢ =0 A 9df) & R ¥ S 9w ffm
TA—I[w0d, ToRgF, w98 A @ (afada 3@
w9 | ) # e §) 9r ot o mn @ f—

() D¥Eud v @ L

(i) ¥EH Fow MR S H R, W TeRyE
foua ®

(i) A FHH Fics 1 9 @1 &
(ivy BY®E Q7 vg I ®
(v) H1EE Fics Fta | fom B

43, AR
(@ 6:5 (b) 4:3 AT
(a) TSI | (b) TG H
fc) 6:1 (d 4:2 fc) T Q% (d) +EH
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38. A Dbookseller sold ‘& number of
Geography textbooks at the rate of ¥x
per book, ‘a+2 number of History
textbooks at the rate of ¥ (x + 2) per book
and ‘@-2' number of Mathematics
textbooks at the rate of ¥(x-2) per
book. What is his total sale in ¥?

fa) 3x+3a (b) 3ax+8

fc) Sax {e) x3a®

39. A bag contains 15 red balls and 20 black
balls. Each ball is numbered either 1 or
2 or 3. 20% of the red balls are
numbered 1 and 40% of them are
numbered 3. Similarly, among the black
balls, 45% are numbered 2 and 30% are
numbered 3. A boy picks a ball at
random. He wins if the ball is red and
numbered 3 or if it is black and
numbered 1 or 2. What are the chances
of his winning?

1 4
fa) P (b) =7

5 12
(c) 5 (d) 5

40. Two persons, A and B are running on a
circular track. At the start, Bis ahead of
A and their positions make an angle of
30° at the centre of the circle. When A
reaches the point diametrically opposite
to his starting point, he meets B. What
is the ratio of speeds of A and B, if
they are running with uniform speeds?

(@ 6:5 (b) 4:3

fcg 6:1 (d) 4:2

CYRF-5-TXLD/S0A

41. A student has to get 40% marks to pass
in an examination. Suppose he gets
30 marks and fails by 30 marks, then
what are the maximum marks in the

examination?
fa) 100 (b) 120
(¢) 150 (d) 300

42, 19 boys turn out for playing hockey. Of
these, 11 are wearing hockey shirts and
14 are wearing hockey pants. There are
no boys without shirts and/or pants.
What is the number of boys wearing full

uniform?
(a) 3 (b) S
fc) 6 (@) &

Directions for the following 6 (six) items :
Read the information given below and answer
the six items that follow.

A, B, C and D are students, They are studying
in four different cities, viz., P, @, R and S (not
necessarily in that order). They are studying in
Science college, Arts college, Commerce college
and Engineering college (not necessarily in that
order), which are situated in four different
States, viz., Gujarat, Rajasthan, Assam and
Kerala (not necessarily in that order). Further, it
is given that—

(i) D is studying in Assam

(i) Arts college is located in city S

which is in Rajasthan

(iii) A is studying in Commerce college

(iv] B is studying in city Q

(v) Science college is located in Kerala

43. A is studying in

(a) Rajasthan (b) Gujarat

fe) city Q (d) Kerala

| P.T.O.
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44, HEE iy fua 2
(a) TR QH
(b) W& SH
(c) TERH
(d) WELPH

CYz T8 2
(a) HTEH Fic A
(b) TIEIH |

fc) A H
(d) T&@ QH

45.

46. Fr=fafaa 4t 4 @ FF-71 o 98 27
(a) D ¥E SH T 9B W R
(b) A ¥TEE wiera § g T R
(c) A TYg T B
(d) Tl Fies e & fem R

47. Wil wicw & way #, fefafas 4 @
-1 UF FuA T 27

(a) C 4% 9% @2
(b) BEl 9% @ 2
(c) I® TaUa A feum 2
(d) DaEl ug @R

48. F=fofaa #uFt § @ F9-11 05 | 27
(@) Tl wies sma d fém )
(b) W&l Q ¥HH | foud B
fc) CHAN TR R
(d) BTETA A 9g @I &)

CYRF-S5-TXLD/S0A
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CSAT (22)

Frafefem 8 (ame) wwion & forg fdw

= fu mu sme ufedEt 9 ofew ol ofi=gEl & 99
M T T & I i) 9 e # e 3w
Fad T yicesdl 9 snuifE B =)

fedz—1

oAy SiEdd & famm w@ A o sefafa §
#ad: @rd Haifea @A 2 wra 3@ 2 F fau
HAfFEeH a9y deene efR gfEemE
Hfvrfed ve wrifea +03 F fau fBwden fe w9
| =gd =1ed 2| A S i 3 % R, SR
wefarg iada ) waiius gR e 8 4 s e,
o fowm 1 wh sEwEEaEl o g, w
aren #n oft mik ) sfiwm 2w Pfim @ ey
IREdq ® aRadfas @t % ®9 8 3@ § o e g
* e et A i = e ohiga a0F /A
AP F 36 R w5 T R R

49, 9w uft=dz % de 1, Fafafaa gduromd
=g #

1. Sead SfEdd, ek 2l ¥ fo i
el 81

2. % ouil & fou, seEg dhEd
sfea Hfifoma gz # v vw w1 0
|

3. fodim ol ot @ @m0 ol
fasmaiie 20 A sgEeq gum =@
| |

IE® i 8 FA-H gEunon/gharemd. 4y
#/87

fa) Fad 1 3w 2

(b) *ad 3

fc) Faa 2 3n 3

d 1,233
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44, Science college is located in
(a) city Q
(b) city S
fc)
(d)

city R
city P

45. C is studying in
(a)
(b)
(c)
(d)

Science college

Rajasthan

Gujarat

city Q

46. Which one of the following statements is
correct?
fa) D is not studying in city &
(b) A is studying in Science college.
()

(d) Engineering college is located in
Gujarat,

A is studying in Kerala.

47. Which one of the following statements is
correct regarding Engineering college?

(a] C is studying there.
(b) B is studying there.
fc)
(d) D is studying there.

It is located in Gujarat.

48. Which one of the following statements is
correct?

(a)

Engineering college is located in
Assam.

(b)
fc)
(d)

City Q is situated in Assam.
C is studying in Kerala.
B is studying in Gujarat.

CYRF-8-TXLD/S0A
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Directions for the following 8 (eight) items :

Read the following eight passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

All actions to address climate change ultimately
involve costs. Funding is vital in order for
countries like India to design and implement
adaptation and mitigation plans and projects.
The problem is more severe for developing
countries like India, which would be one of the
hardest hit by climate change, given its need to
finance development. Most countries do indeed
treat climate change as real threat and are
striving to address it in a more comprehensive
and integrated manner with the limited
resources at their disposal.

49, With reference to the above passage, the
following assumptions have been made :

e i

1. Climate change is not a challenge
for developed countries.

2, Climate change is a complex policy
issue and also a development issue
for many countries.

3. Ways and means of finance must

be found to enable developing
countries to enhance their adaptive
capacity.

Which of the above assumptions is/are

valid?

fa) 1 and 2 only

fb) 3 only

feJ 2 and 3 only

({d 1,2 and 3

[ P:T0.
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aftese—2

WRd H Wd W a1 e 8 @ 9EE E@R
el F wE w5 w0 O Wiga @ oA Al
segEE 61 i aun 9= waifus wifaw =1 wnn
Fd B ufa o W wdi # 10 e A awfes wamf
Yo Hie a1 wgvl, s T @ s § v vewe due
@ A 2, & F AR R aon AR duA A 3w Am Ay
T % e 1-5 @ 3 g i § qafl we
@M & % {0, 98 R wwe e Sfle, wEfuw
a1 fasiefl, 1 I F+Q AW W SR
fewm ¥R-dit w3 W R, wgvw 3 o A oy @
94 a1a $99 & w0 8 I § 97 Tl gen amm
30 791 A 70 Fg T B 2

50. 3w ui=dr A, fofifigs 4 @ 3=-m
waitias fAvra® st arfdes fAwwd (3%0a)
Trerren = wean #7

(@) o SH, @R @dl & uld A
ANEES F HAO WESH o *
3I9EPT ) A @ B

(b) W@ ¥ HUF e % TG g9V ) FHEn
F HIYA W@ 5 ¥ TS0 E %
IwEm F oafdE weEar dE fRn s
Tl 2

fc) WG & WiHaw T F A=W ) g@E
ity aw Al Feell svamRA &=
afeu |

(d) ¥R 9 4 mm = B e oaw
TER FH HEEEE 5og =) % R
Tl 2|

gf=ggs—3
AFF TR F 391 dF2 € Al w99 S ¥ Ty
T # R e & @, T B 7 TR TEEE A
oM ?, & wowfe gd fa, S fF -t 2,
Fe-ea &, g &, *1 s P (BsR) w=@ 8,

il 3R et & 9 @ g fagm F 9w FH o afim
a8 weEd €, 98 Aw e vl d givem

51, Frafafaa 4 4 F=-a1 v =0 of=dt =1 o
TEvaqul fAfgared 27

fa) Hd faa fagm 1 == B)

(b) Taum € s gt fam =1 Fio =2
? 9 T wden a1 w@Ez oA

(e) Tasm % famn gedt faw dvwm 54 2

() T e | @ Foga @ i R,
fogm & @1 9 A1)

afegs—4

e & Siiarn o, ¥ 3t @i & fage s
s 7 4 % AUF @@ wny 7% gew B S
sk, st w38 (Fes 9R) F o @
Herhiedm wiY & @ g A w@ifee R osi fEf oo
2 I fry TR =916 TadEE 2El sl ad e,
% favlm adfes &1 sdrfiem @ gifie @ 5 fm
w1 FN o A R, Foww 39w v@ fam
st B sftes g@eE F fog wrenfia ®1 Reegw
e =l GEIE HYEA1 3 Abfew @2 9 290 #1 e
AR % 92 @vEl ) F-39d F e et fen 2

52. ffafem 4 8 #-w uw 8 ufisde = waw

wEvaqul fAfgaref 27

(@) WA #HRREF oW A THaEw 2@ =
a1 ® 3N I8F G 9% e O
959 & Hehdl 2

(b) s B Hw fom # fraen oo
# qREHA 1 FRT T

(c) ¥rhfes &3 wiesy A 4w + daE 6
FH| & Wl wE ) gesmm |

(d) ¥HRF 43 B e & sfs ganm
21
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Passage—2

Cooking with biomass and coal in India is now
recognized to cause major health problems,
with women and children in poor populations
facing the greatest risk. There are more than
10 lakh premature deaths each year from
household air pollution due to polluting cooking
fuels with another 1:5 lakh due to their
contribution to general outdoor air pollution in
the country. Although the fraction of the Indian
population using clean cooking fuels, such as
LPG, natural gas and electricity, is slowly
rising, the number using polluting solid fuels as
their primary cooking fuel has remained static
for nearly 30 years at about 70 crore.

50. Which of the following is the most
ecrucial and logical inference that can
be made from the above passage?

(a) Rural people are giving up the use
of polluting solid fuels due to their
increasing awareness of health
hazards.

Subsidizing the wuse of clean
cooking fuels will solve the problem
of India’s indoor air pollution.

(b}

fc) India should increase its import of
natural gas and produce more
electricity.

(d) Access to cooking gas can reduce
premature deaths in poor
households.

Passage—3

Scientific knowledge has its dangers, but so has
every great thing. Over and beyond the dangers
with which it threatens the present, it opens up
as nothing else can, the vision of a possible
happy world; a world without poverty, without

war, with little illness. Science, whatever

CYRF-S-TXLD/50A
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unpleasant consequences it may have by the
way, is in its very nature a liberator,

51. Which one of the following is the most
important implication of the passage?

fal A happy world is a dream of

science.

(b) Science only can build a happy
world, but it is also the only major

threat.

is not

fe} A happy world

without science.

possible

(d) A happy world is not at all pessible

with or without science.
Passage—4

The Arctic's vast reserves of fossil fuel, fish and
minerals are now accessible for a longer period
in a year. But unlike Antarctica, which is
protected from exploitation by the Antarctic
Treaty framed during the Cold War and is not
subject to territorial claims by any country,
there is no legal regime protecting the Arctic
from industrialization, especially at a time when
the world craves for more and more resources.
The distinct possibility of ice-free summer has
prompted countries with Arctic coastline to
scramble for great chunks of the melting ocean.

52. Which one of the following is the most
important implication of the passage?

ja) India can have territorial claims in
the Arctic territory and free access
to its resources.

(b}

Melting of summer ice in the Arctic
leads to changes in the geopolitics,

(c) The Arctic region will solve the
world’s future problem of resource

crunch.

The Arctic region has
resources than Antarctica.

(d)

more

[ P.T.O.
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uf=de—s ?1 W U e, AR wd yeem wg @ sinddt

oo Ao Ao F 7AW T F FRU IR T FH
| 41 g @ 9w vwe wiE e v 3w
e & @ sgemda frm %) wwen s % 5 R
9 F SgeaT 6 ¥ gEr Fi IRl ¥ Ry <Ee
AU Hew 39wy A A Bl snof siv @ dmsi
* afe @ T R SEen wnd ¥ s anfs
weEm fagmefe 3 ¥ oy Ff s ¥ g ¥
10 wftema & sifbs 7@ @ waed | wwra # do Fo wge
*F fou =gen wneh 7 ¥R wmm W adeRw
wifeen smwE §) T wE 2 B oge ad §
IEH F A T A i weEw FN 3w
Ted % 10 Wiowa d afie 7g W

53. I vf=de 70 Frorfae w3 ¥ &7

(@) WA F H[ dio Fe THe F WA
1 =1fe |

(b) WRA F| T&Ho o o w1 wew
B =i

() ¥rE % fow, @ e =R % g
THE I FA 2

(d) ST F9 T ) W g S R

af=is—e

awa i e soreh 3w s fan el % 9w
o B S 9 A 107 e # Rl € ok aw A
fag # %o ) @ o = Bw 2 B ow= A
‘7=’ A iR sraeE At & w9 sggiew fe
we| g8 el HEifE gn F fo suge off fed
i Tl seTerhal At 6 @ g 6
Tt ot TR e dem R FaE B o § R
afeat Bt 8, affal 8 & afn fnafifal % o8 ¥
e sm &, W fane W erquem % R @ @m0
@ &1 freg, s 3o @ adm amrarw pf:
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qan 2|

54. I Wz ¥ wad #, Frefaiea g

T T #

1. 9ra aoft gfeqd fan woreht & wwm
ra: fapmafier @ @ gan 2

2. 99 F fefifd % R ow o H
FNAC-FAE W FHA A0 B

3. wh wem § vy fen v w0 &
o 5o fasfem 29 # o § =0ifs ==l
# foien wnfeat 3 wwst @ o
wfafaes & e A = =it 89

:qgﬁﬂﬁﬁﬁ-ﬁﬂ e /qdeTond. 4w

[=?

fa) ¥4 1 3R 3

(b) Faa 2

(e) Faw 2 3R 3

(d 1,233

ufede—7

SER-FEm (ersfen) F1 e TR W= g b w
F1§ Th A48 IR UW A F 70F 6 aem § 2 &
Wl Hefvrn, SR, Wit s, fom, o,
TiifE M TR aw smenfRm wme R,
dadteh w6 almm % ded # fim #1 39 =1 @
fra smer 1 w8 W ww § oW v omn F
Haeeia 8, T ama | st A3 ) o9 vy 3w A
4 Sfeamat # F0 TH smER @ sER-gft § T
o THhd| B BeR § R w fgaw @ A4 e
(S1%2) i fawerar 1 T a1 B| 5@ 9F 999 92 F
Fron il well-wffa @ T smon s = g
fobm smem i @ 9 e F e A @ e T
ST, Fr§ i SRR e qwe 7€ wm )
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Passage—5

Being a member of the WTO, India is bound by
the agreements that have been signed and
ratified by its members, including itself.
According to Article 6 of the Agriculture
Agreement, providing minimum support prices
for agricultural products is considered
distorting and is subject to limits. The subsidy
arising from ‘minimal supports’ cannot exceed
10 per cent of the value of agricultural
production for developing countries. PDS in
India entails minimum support prices and
public stockholding of food grains. It is possible
that, in some years, the subsidy to producers
will exceed 10 per cent of the value of
agricultural production.

53. What is the crucial message conveyed
by the above passage?

(a)
(b)

India should revise its PDS.

India should not be a member
of WTO.

(c)

For India, food security collides
with trade.

(d)

India provides food security to its
poor.
Passage—6

India’s educational system is modelled on the
mass education system that developed in the
19th century in Europe and later spread
around the world. The goal of the system is
to condition children as ‘good’ citizens and
productive workers. This suited the industrial
age that needed the constant supply of a
compliant workforce with a narrow set of
capabilities. Our educational institutes
resemble factories with bells, uniforms and
batch-processing of learners, designed to get
learners to conform. But, from an economic
point of view, the environment today is very

CYRF-S-TXLD/S0A
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different. It is a complex, volatile and globally
interconnected world.

54. With reference to the above passage, the
following assumptions have been made :

1. India continues to be a developing
country essentially due to its faulty

adiina +;n1‘! auateam,

Ll LT LR ey el enaa

2. Today's learners need to acquire
new-age skill-sets.

3. A good number of Indians go to
some developed countries for
education because the educational
systems there are a perfect
reflection of the societies in which
they function.

Which of the above assumptions isfare
valid?

(a)

(b) 2 only

1 and 3 only

fe) 2 and 3 only

(d 1,2 and 3
Passage—7

The practice of dieting has become an epidemic;
everyone is looking out for a way to attain that
perfect body. We are all different with respect
to our ethnicity, genetics, family history,
gender, age, physical and mental and spiritual
health status, lifestyles and preferences.
Thereby we also differ in what foods we tolerate
or are sensitive to. So we really cannot reduce
so many complexities into one diet or diet book.
This explains the failure of diets across the
world in curbing obesity. Unless the reasons for
weight gain are well understood and addressed
and unless habits are changed permanently, no
diet is likely to succeed.

[ P.T.O.
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ss.wi?ﬁ'qﬂﬁhﬁﬂi_h-mmﬂimmﬁﬁaﬂ? 57. I gFRR 5 @ = £ 40 § J9E X%
aehaTa fend (39ia) Frren 1 g 7 TN HATCI 1 Uy, S T8 39 76 F €20
g S - 4 4= ?, @ 3@ I @ afeem A B B

t1 75 ¥ g@ @ e 87
(b) gﬁ%ﬁu%w@zmmaﬁwﬁ (@ €10 (b) 20

(c) WIEM deEa: UH SEe U0 )
(@) "R ¥ fou #f i smER s o 58. il 39 A witf 7 wmm g w24 fagd §)

(c) ¥ 30 {d) ¥a0

T TE 1 8 i % w9 § fi7 forgedl % wyeri A
A fras = i 7
& wHaTg e 9w §
(a) 4 {b) 6

THE FY A § 92 Wifam §) v @
g% faum % @@ I f FAR = e T W=
HH &, T IR T 78 § P s ed) g sin
AYIHd YHed THEE 2050 9% 70% W A 59. Frafaflaa agen w fmm $if

@ F 394 Foft | aRaEfia gidf seErg @ 3 Sifew 4/12/95, 1/1/96, 29/1/96, 26/2/96, ...
I oAfuw g ) W8-9@ wr W fm s W = am?

T A fam ameh, o f Fhefat agra @ ™ Vo il
s | Il emifem B sfbw e @@ w1 wme s (@ 24/3/96 (b) 25/3/96
ﬁmmmﬁ%ﬂ“mmaﬁMﬂml fc) 26/3/96 (d) 27/3/96

56. fefafad 4 8 #m-w1 waifls wifds,
ThaTa R fofas wew W uieEE T 60. 5 #o Hio faml & ara A f5e w3 & fow amg

fc) 8 (d) 12

i e 81 U 1 F) W@ R R § A ot g,
(@) woe wgafe fifaum # g g% § an af §) Pread @il ¥ d= w2
Sea uiEda ¥yl F faeg o 2 Tk wom 781 ) WE o w1 dEe . 27

(b) =Fa e Sifan @7 % s, fag # 8.ta un
e g F ghiaa 0 w1 e s ) o il
THUH FY A B

(c) e A i s AR W wwaRa () gaﬁﬂuno
wcl ¢ hae Giaee @@ wh g fag 6
U1 L GFAl 8

(c) 1 a1 Ao e

(d) T Tt iR aoe @ @ w
&t Wi T i T 90 e

25
T 7| (@ Tgaﬁﬁ"tﬁ"

CYRF-5-TXLD/50A 28

HEAD OFFICE: 25/8, OLD RAJENDRA NAGAR MARKET, NEW DLEHI-110060
PHONE NO.: 8447577455, 9810792706




N STHTUTEFORTASHFoTE A AT N S —
MATHEMATICS BY K. VENKANNA

55. What is the most logical and rational
inference that can be made from the
above passage?

(a) Obesity has become an epidemic all
over the world.

(b)

A lot of people are obsessed with
attaining a perfect body.

(c) Obesity is essentially an incurable
disease.

(d)

There is no perfect diet or one
solution for obesity.

Passage—8

Monoculture carries great risks. A single
disease or pest can wipe out swathes of the
world’s food production, an alarming prospect
given that its growing and wealthier population
will eat 70% more by 2050. The risks are
magnified by the changing climate. As the
planet warms and monsoon rains intensify,
farmlands in Asia will flood. North America
will suffer more intense droughts, and crop
diseases will spread to new latitudes.

56. Which of the following is the most
logical, rational and  crucial
message given by the passage?

(a) Preserving crop genetic diversity is
an insurance against the effects of
climate change.

(b) Despite great risks, monoculture is
the only way to ensure food

security in the world.

{c) More and more genetically modified
crops only can save the world from
impending shortages of food.

Asia and North America will be
worst sufferers from climate change
and the consequent shortage of
food.

(d)

CYRF-S-TXLD/SOA
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57. A shopkeeper sells an article at ¥40 and
gets X% profit. However, when he sells it
at 20, he faces same percentage of
loss. What is the original cost of the

article?
fa) ¥10 (b) ¥20
fe) ¥30 (d) ¥40

58. There are 24 equally spaced points lying
on the circumference of a circle. What is
the maximum number of equilateral
triangles that can be drawn by taking
sets of three points as the vertices?
o) 4 (b) 6

c) 8 (d) 12

59. Consider the sequence given below :
4/12/95, 1/1/96, 29/1/96, 26/2/96, ....

What is the next term of the series?

fa) 24/3/96 (b)

(d 27/3/96

25/3/96
(c) 26/3/96

60. Twelve equal squares are placed to fitin a
rectangle of diagonal 5 cm. There are
three rows containing four squares
each. No gaps are left between adjacent
squares. What is the area of each

square?

fa) : 5( cIn
{b) % s cm
fe) 1 sqcm
@ 2> sqcm

[P.T.O.

HEAD OFFICE: 25/8, OLD RAJENDRA NAGAR MARKET, NEW DLEHI-110060
PHONE NO.: 8447577455, 9810792706



INSTITUTE FOR IAS/IFoS EXAMINATIONS

MATHEMATICS BY K. VENKANNA

B8 = Ru e s (o) wofeEm i

100% - pre
Ernd | sty ¥4
ESD’%-I (}Jw‘"ﬂﬂ

25% 1 & f’""{:wm

0% L

19ha W s e s ) famen

frafafas 3 | #9-w $97 3w fiu ™

Iera F e § wd et R7

(@) 1 5[ % @ # Iafas i i
wifa & #9 o)

(b) *M@ F IrEfaF T B | T wH
% waifus ot

fc) T arErE § UfEE F99 | 9ge GO A
|

fd) 1 3%a 8 1 Taaeg 6 @iy § fad o
oY Grdtas wfe oida wifa 9 st
EGE

B = aa s % o o5 & 47 avesi

F e o oA w1 R A R
TR

Iyerey B: fafvm o0 4 @ o g & e wwd
F o1 Gvedl 4 @ TF 1 39 GFR 0N M
? 5 = i 3 guesl =1 @ wEE 7 A
s -m9 1 fra sem-srem @ @ T W
ol 6f

(@) 120 (b) 81
(c) 66 (d) 36
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Frefafem 2 (1) wwmt & forg fdw

A oy Ty srera (o) W R Fifen f fedt 2w
1 Fet i gy A é #, i 3uE A AW T A
TE % I A

30

HET
\l\l "‘"‘1-‘-

T

T ] ——

|

ﬂ._l.nun
1970

1980 1990 2000 2010
Ty

HTerE I F@a 78 Frad fmren s awm ?

T4 1990 ¥ 2010 7%

(a) e € Fe-wah

(b) wwEE F gfE-T 92 B

(c) waEn $i gfg-w fon w ¢

(d) vEem # gfe-w el w4
feard

B w= f g s ¥ wed #, 1970 F anwm

9 g Frefefas el w famm Hifa

1. 35 aul & vgn sHeen B 8 3

2. 35 991 F vu wwEen fe-w e f
TS 1

3. UEd 10 791 § gepe § 10% H fowe
i dl

4. 35 94l & =12 we fap A w2

wE A A WY wEie wEe od

AHGT B & W % 3@ se@ | a=

e 87

(@ a1 1 dAR 2

fc) 33N 4

() 1,233
(d) 2 3R 4
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MATHEMATICS BY K. VENKANNA CSAT (31)
Consider the following graph : Directions for the following 2 (two) items :
Consider the following graph in which the
TI // birthrate and death rate of a country are given,
and answer the two items that follow.
"E T3% - , e
3 E C '-"""--.,
= 50% - R B "‘\.\
- = Act ] E e ¥ Bl \..,“
25% 5 Y - . Birthrate
prog 20 b
E- n h'\.‘ i"""'--.._
0% ﬁ [ H\.
1st April May June July Aug IlstSept ‘é - k“\Death s
Which one of the following statements is % ' C N,
not correct with reference to the graph v OE e
given above? E - S e N
(@ On lst June, the actual progress of T F A cXr.
SECES AR e sk RS o3 pe " ?9::':::“ | 1980 1990 200 2010
(b) The actual rate of progress of work faars
was the greatest during the month
of August. Looking at the graph, it can be inferred
() The work was actually completed that from 1?9{} to 2010; * .
before the expected time. faj ‘Iﬁﬁ‘pulﬁtiﬁﬂ growth  rate  has
: . : increased
(d) During the period from 1st April to (b) population growth rate has
1st September, at no time was the decreased
actual progress more than the (c) growth rate of population has
expected progress. remained stable
For a sports meet, a winners' stand () tPr‘LI:l‘;]ﬂmn growth rate shows no
comprising three wooden blocks is in B, efiacnice o the aboue gieph;
the following form : consider the following statements
considering 1970 as base year :
1. Population has stabilized after
35 years.
2. Population growth rate has
stabilized after 35 years.
- Tonél —mta koo fallam e 1ML n
. . . (= L/Calll Tals lias laiiil Wy 4w d faa
There are six different colours available the first 10 years.
to choose from and each of the three 4. Birthrate has stabilized after
wooden blocks is to be painted such 35 years.
that no two Gihem 8 the same Which of the above are the most logical
colour. In how many different ways can and rational statements that can be
the winners’ stand be painted? made from the above graph?
fa) 120 (b) 81 (a) 1and 2 only (b) 1,2 and 3
fc) 66 (d 36 (g 3 and 4 (d) 2 and 4
CYRF-S-TXLD/S0A 31 | P.T.O.
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MATHEMATICS BY K. VENKANNA CSAT (32)

mﬁaaahtaﬁwmﬁﬁaﬁrﬁﬁﬂﬁraﬁ B = R i w few i
sfraa wfi w21 o (B) Prefa Hi v 2

E A

40

HY 35 <
FA T 55 |

25 +
20 O $ t r $ >
2013 14 15 16 17 ¥ E{(jj\

o
ICER:!

2 e ?

Er ool 20
ofd ger
mf ‘ TEaeE e F R W I9ge w9 @ M
. _ 2 el WEl I 2
2013 14 15 16 17 ¥
5
D R
ol @ a7 2@ T wem B
(@ E%9eq stem-siem )

(b) E % 9iw (sufq siftsan @ =@am ¥

419 #1 Aew) rem-sren
S 3

fe) G (%) ) wauE g9 2
0~
(@) ETA 3&H = sem-sem &
CYRF-S-TXLD/50A 39
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INSTITUTE FORIAS/IFoS EXAMINATIONS
MATHEMATICS BY K. VENKANNA CSAT (33

Average hourly earnings per year (E) of m Consider the figures given below :
the workers in a firm are represented in

figures A and B as follows :

NSV
Hourly
earnings o ! E{jj'\\ \IT/
?:F
Years
Fig. A TN >
E
40 T
a0
_ To fit the question mark, the correct
Hourly = answer is
earmings
10
T 1 > r’ajl -
2013 14 15 16 17 Y ]
Years
Fig. B
From the figures, it is observed that the () * 77—
fa) values of E are different
(b} ranges (i.e., the difference between (c) :
the maximum and the minimum) of

E are different
(c) slopes of the graphs are same

(d) rates of increase of E are different

CYRF-S-TXLD/S0A 33 [ P.T.O.
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INSTITUTE FOR IAS/IFoS EXAMINATIONS

T RETATHEMRTICS BY K. VENKANNA

IR fifea it a4 i B Rrem Hif -

B
T
= &
‘E E s
A
4_.
1000 2000 3000
ffafifa szet #t g
=3 A
\
S00
| L
g A
E‘ 400
E 330
300
1000 2000 3000
3% my sr=et F v
fa B

#0: T3 A 3 B 7 fmft s 6 fwfo
wr 3R wafia fh fad v 8 Fa-8-5w

o a1gEl 71 Fomiv e st =nfze @ =iy
aq?

(@) 2000 (b) 2500

fe) 3000 {d] 3500

68. T% fo® # 18 99% 1 30 9= #1 & 9 #
qaar g1 fom 0 12 99 & 9y a9

3 HFd B7
(@) 6 (b) 10
(c 12 (d) 15

CYRF-S-TXLD/50A 34

CSAT(34)

69. Tl =aftr 3 ¥22,800 Fwa =+ LA
12-5% Twgfe == (aids) w adiEn) e
=4 % 0 W I €8,650 T gEt a4 F 30

W #9,125 FHE| FU W TFA F fom =
e 9 F o d e w9 W g aon

BT
(a) ®9,990 (b) ¥10,000
fe) ®10,590 (d) ¥11,250

ER) Friifea o w farem i -

AVARNAVL
VA » D

) (i

A%

2V AV
VAVARCAY,

R o) & (vi) o5 § 38 wm Fafm
femadi # sl feufeat seem g feam o &)
S F AT A 7 AR R e
# /- = (VI § e

gl . wEt
S5

7
&

(d)
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MATHEMATICS BY K. VENKANNA CSAT (35)
Consider the following figures Aand B: 69. A person bought a refrigerator worth
a F 22,800 with 12:5% interest

" compounded yearly. At the end of first

2 7 year he paid ¥ 8,650 and at the end of

s ¥ 61— second year ¥9,125. How much will he

i

-g = have to pay at the end of third year to

'g'-, g5 clear the debt?

3 Y 4

P W (@ 9,990 (b) ¥10,000

1000 2000 3000
No. of pieces manufactured
Fig. A

€ ¥10,590 (d) ®11,250

m Consider the following figures :

\
AR AV AvA
o VAN VAVARAY,

350 (1) (11) (111)

n AV RNAVANN-VA
1000 2000 3000 'Av VA' "'

No. of pieces sold

Selling price per
piece (¥

Fig. B (IV) V) (VI)
The manufacturing cost and projected
sales for a product are shown in the In the figures (I} to (VI} above, some
above figures A and B respectively. parts are shown to change their
What is the minimum number of pieces positions  in regular direc_tion s.
that should be manufactured to avoid a Following the same sequence, which of
loss? the figures given below will appear at
II) stage?

(@ 2000 () 2500 (V1) stag

@) 3500 AN
(c) 3000 (d) @ )

68. A lift has the capacity of 18 adults or
30 children. How many children can
board the lift with 12 adults?

T P>
o) @S
T
S

(a) 6 (b) 10 (c) v
(c) 12 (d) 15 '
CYRF-S-TXLD/S0A as [P.T.O
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K2 Friifra sterl w frem Hiftrg) serdt § e
U 56 FO a9 ! aiy ¥ < 29 A iR B
A wwEn § fm -l B ki 5@

g
A
12
104 e
é 084 e Can R
il Diﬁ' A ,-'JJ-.
021 o —
@ I_. I | I I |
1950 1970 1990 2010 2030 2050
a9
<15 15°64 64+
SN B
1-2

w140 -
E 0-8
E 06
E 0-4

02

0

e
__________
_____
ai

1950 1970 1990 2010 2030 2050

............. g —

<15 15-64 64+

IE s % de §, Frafafad & @
PR watfim mfdw ok whwm fred
(Ftw) il o1 e &7

1. ool o serhl # 30 B & fvfan siguma
1 FH g R

2. I TE TH F I H, IJ| A F
Fftan srgom, 3 B % P s A
qo | |ga F 8 S|

CYRF-5-TXLD/50A

CSAT (36)

3. 30 2 el W, 39 A gam i 2m B
A T FHET * gNE wEle seEeE
g e

A1 e T = 1 v w3 gfug

(a) Faa 1 3R 2

(b) Fad 2 3w 3

(c) Fas 1 3R 3

(d 1,233

72. @edl, IgH Wi, IgH TH oau I@E g3
el faere 1 o T (2aew) Qe wRw
iﬁﬂﬁ!’lﬁ:

() @& F 9 I6h G A R F um A=
wE R

(i) FEF UA, a4 @OE flged & s o
2 % e fawia: wga )

(iii) F=8 =@ faard o wEE wE
faerd 92 F s & aw &

Ha8 F=a fawrdl #1987
(a) FEHI WIE
(b) TR FH
(c) 3EF A

(d) e
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INSTITUTE FOR IAS/IFoS EXAMINATIONS

m Consider the following graphs. The

curves in the graphs indicate different
age groups in the populations of two
countries A and B over a period of few

e e e —

3. In the next two decades, the work-
force relative to its total population
will increase in country B as
compared to country A.

decades :
Select the correct answer using the code
Country A ;
" 12 given below,
L
i I s
E 08 LT
£ 064 s (@ 1 and 2 only
[~
8 04 e 3l
B god——" s (b) 2 and 3 only
By L s e -——
S [ T T T T 1
1950 1970 1990 2010 2030 2050 () 1 and 3 only
Years
= T e (d 1,2 and 3
Country B
(] £ 72. Lakshmi, her brother, her daughter and
2 her son are badminton players. A game
£ % of doubles is about to begin :
g0 AW e
= (i) Lakshmi’s brother is directly across
2
5 — the net from her daughter.
o e .
E‘ ————————————— (i) Her son is diagonally across the net
I I | from the worst player’s sibling.
1950 1970 1990 2010 2030 2050
Years (iiij The best player and the worst
—_— - player are on the same side of the
<15 15-64 64+
net.
With reference to the above graphs,
which of the following are the most Who is the best player?
logical and rational inferences that
can be made?
fa) Her brother
1. Over the last two and a half
decades, the dependency ratio for
country B has decreased. (b} Her daughter
2. By the end of next two and a half
: fc) Her son
decades, the dependency ratio of
country A will be much less than
that of country B. (d) Lakshmi
CYRF-3-TXLD/50A 37 | P.T.O.
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BB i o o s o A st dehm

&% T yga i = # ofs ar e M

g i o, v # 7-50

7-50
700
630
600
350
500
450
4-00
3-50

300

(+25)
725

650

R (+25)
6-25

Hio M Mn/z"’_’:

E-DD
600 600
]

550 Lic LRy

2 W27 fmis T@2 Pmis w25 o1y w3 116

2010 2011

frafofaa 3 @ #9-w1 v ¥ &= 6 =
FHATE F1 THF 9T FHOT &7

(@) Ta=h Fam =) Trenfea s

(b) TE R gha @

(c) ®EwtE R Wi 2H =t § 9fg @

(d) whfa-fan =0

CYRF-5-TXLD/50A

Tt 2 (@) iyt & forg Fdm -

= & wfer 3 e frde = F fedt 2w % fifim
T4l #1 Sflo Elo flo gfg-w 3 grEer goma sfwe
feam mu §) wm @i 1 e i ofw o am
11 31 T o I i)

=g gl =gfes | sfte 2o dto {ml'ﬁ':'{
57 ($) | FhE-3T (%) e
=g 1 704 9-52 T0-27
T4 2 419 5-31 35-88
T4 3 254 10-83 5007
T 4 545 9-78 504
=g 5 891 10-8 T6-12
T4 6 1077 11-69 775
™7 900 8-88 104-86
T 8 395 592 6
T 9 720 776 82-25
T 10 893 9:55 96-7
Mg 11 363 47 577
=g 12 066 785 638
=g 13 495 937 523
= 14 BbH4 546 979
T 15 497 748 62-3
T 16 ¥ 703 938
T 17 335 58 49-9
= 18 299 749 47-84

BZ 5w 4 i aiie & wad 4, frefofen # 2
wH-A/q gaEifas wfEs st adam
frend (F4iw) Feeren st wem B/Fwe

HeFd £7

1. =@ ufn =f wm wmAEm 3=
TEER Al | dag gl 2

2. F=® e Fo flo FE-T a1 7= Wl
=t 3/ F1 ghiga i )

3. Mﬁuﬂaﬁnﬁ-ﬁmw
wAAl H wEvEE w9 A ghfim T
Al |

A1 fw e e w1 WM = ad 3w g

(@) *Fd 1 (b) 2 3 3

[c) 13R3 (d) FFa 3

38
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YW The graph given below

indicates the
changes in key policy rates made by the
Central Bank several times in a year :

Key policy rates in % %S
(+25)
750
700 650
(+-23)
650 625
600 .
£0) # 6-00 600
550 Q)
550 Reverse Repo Rate
500
450
4-00
4-00
350
3-00

Jul2 Jul27 Sep16 Nowl Decl6 Janl5 Mar17 May3 Junlé

2010 2011

Which ene of the following can be the
most likely reason for the Central
Bank for such an action?

(a) Encouraging foreign investment

(b) Increasing the liquidity

fc) Encouraging both public and

private savings

fe) Anti-inflationary stance

CYRF-S-TXLD/50A

IFoS EXAMINATION
MATHEMATICS BY K. VENKANNA

CSAT (39)

Directions for the following 2 (two) items :

The following table gives the GDP growth rate
and Tele-density data of different States of a
country in a particular year. Study the table
and answer the two items that follow.

States | Per capita|GDP growth| Tele-density |
income ($)| rate (%)

State 1 704 9-52 7027
State 2 419 531 3588
State 3 254 1083 5007
State 4 545 978 594
State 5 891 108 76-12
State 6 1077 11-69 775
State 7 900 8-88 104-86
State 8 395 5.02 6
State 9 720 776 B225
State 10 B93 9-55 967
State 11 363 47 orT
State 12 266 7-85 63-8
State 13 495 9-37 52-3
State 14 864 5-46 97-9
State 15 497 748 62:3
State 16 777 7-03 93-8
State 17 335 58 499
State 18 599 7-49 47-84

With reference to the above table, which

of the following is/are the most logical
and rational inference/inferences
that can be made?

1. Higher per capita income is
generally associated with higher
Tele-density.

2. Higher GDP growth rate always
ensures higher per capita income.

3. Higher GDP growth rate does not
necessarily ensure higher Tele-
density.

Select the correct answer using the code

given below.
fa) 1 only fb) 2 and 3
fc) 1 and 3 (d] 3 only

| P.T.0.
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ER 5= @ = wfm ¥ wed #, fiefefe

iﬁmwﬁ¢m7ﬁ%

. AEEd, TR 4 @ 7= o w0 9w
foredt s A duEa @EIR HewEE 1§
Feq faw =) s @ fam e 6
<1 |l |

2. ¥9Fd, 9gd T THAR gOA@ TR
U4 # Jaa[™ ug s fawm =)
tiefed #@ & fou vE gad wreg
I R

g # d FA- qEhumon/qduromd. 3y

/&

(@) “FEE 1

(b) Hae 2

¢ 1 3 23H

(d A®1#HATA 2

K& = e e @) qwwl A smfa § e

L T9E F agte #i vehfa s

(Frov)
(BE)

2010-11

TPV TNET £
e 2 & S 2 @
5 88 88 8 §¢8

- —

FW By T Ao F ey A, et @ @
FH-A/H waiftes afds sk adana
freed (Fodg) Temen =1 gwa 2/Fwe
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CSAT (40)

1, @ wEEy A e 5w geE F g
% ¥ ° yoaw F0 8 yeeE § 9 gl R
Tl ATEE A T FE S 2

2. TR YeE H WW TS H wgh waia
&l & 7 9 g wmafy § Fwim &m0
o =omens w2

e faw %2 F1 wEm w= wd I g

(a) FEA 1

(b) FaA 2

fc) 1 3R 2 3H

(d) AT 1HARAH 2

77. IR x-y=8 &, @ F=fafas § 4 F9-m/9

# g /e @ nfge?

1. x, y & Tt oft 99 % fom x aan y 390
YATeas 2 g =Jfe |

2. x, y% Frdt oft wm 3 fog 9l x werew
B, & y FomeRs g @ =R

3. x, y& Tl fl 7w & fow 3R x
FOM &, T y oo e 8 =it

42 fau o gz =1 w@m = g I ghm)
(a) Faa 1

(b) e 2

fe) 1 32 2E

d) 1,2 3383 =8
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With reference to the above table, the

following assumptions have been made :

1. Nowadays, prosperity of an already
high performing State cannot be
sustained without making further
large investments in its telecom
infrastructure.

2. Nowadays, a very high Tele-density
is the most essential condition for

promating the business and
economic growth in a State.
Which of the above assumptions

is/are valid?

fa) 1 only

fb) 2 only

(¢) Both 1 and 2

(d) Neither 1 nmor 2

Thc following graph indicates the

Per cent of gross tax revenue

composition of our tax revenue for a
period of two decades :

45

404

354

30

25

20

15

10

5 L]

07 _I T T T T 1 ]'-‘-T;i 1

- ~ ‘m & = -

vgég.gibqafgwa’

@ B O n 8 = ® oL o=

BT - S\ 4

2 2 8 & o & ™~ 84 o o
Years

Excise Customs Corporate Personal Service
tax income tax tax

With reference to the above graph,

which of the following is/are the most
logical and rational inference/
inferences that can be made?

CYRF-S-TXLD/50A

41

1. During the given period, the
revenue from Direct Taxes as
percentage of gross tax revenue has
increased while that of Indirect
Taxes decreased.

2. The trend in the revenue from
Excise Duty demonstrates that the
growth of manufacturing sector has
been negative during the given
period.

Select the correct answer using the code
given below.

fa] 1 only
(b) 2 only
() Both 1 and 2

) Neither 1 nor 2

77. If x—y=8, then which of the following

must be true?

1. Beoth x and y must be positive for
any value of x and p.

2. If x is positive, y must be negative
for any value of x and

3. If x is negative, y must be positive
for any value of x and y.

Select the correct answer using the code
given below.

fa) 1 only
(b} 2 only
fcj) Both 1 and 2

(d) Neither 1 nor 2 nor 3

[ P.T.O.
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Frefefem 3 (diw) wwiwi & o Fdw
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(a) F&d 1

(b) Fad 2

f¢) 1 3R 23H
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(c)

(d)
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

The quest for cheap and plentiful meat has
resulted in factory farms where more and more
animals are squeezed into smaller lots in cruel
and shocking conditions. Such practices have
resulted in many of the world's health
pandemics such as the avian flu. Worldwide,
livestock are increasingly raised in cruel,
cramped conditions, where animals spend their
short lives under artificial light, pumped full of
antibiotics and growth hormones, until the day
they are slaughtered. Meat production is
water-intensive. 15000 litres of water is needed
for every kilogram of meat compared with
3400 litres for rice, 3300 litres for eggs and
255 litres for a kilogram of potatoes.

78. What is the most rational and crucial
message given by the passage?

(a) Mass production of meat through
industrial farming is cheap and 1s
suitable for providing protein
nutrition to poor countries.

(b) Meat-producing industry violates
the laws against cruelty to animals,

{c) Mass production of meat through
industrial farming is undesirable
and should be stopped
immediately.

{d) Environmental cost of meat

production is unsustainable when
it is produced through industrial
farming.

Passage—2

A male tiger was removed from Pench Tiger
Reserve and was relocated in Panna National
Park. Later, this tiger trekked toward his home
250 miles away. The trek of this solitary tiger
highlights a crisis. Many wildlife reserves exist

CYRF-S-TXLD/S0A
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as islands of fragile habitat in a vast sea of
humanity, yet tigers can range over a hundred
miles, seeking prey, mates and territory. Nearly
a third of India's tigers live outside tiger
reserves, a situation that is dangerous for both
human and animal. Prey and tigers can only
disperse if there are recognized corridors of land
between protected areas to allow unmolested
passage.

79. Which of the following is the most
rational and crucial message given
by the passage?

(a) The conflict between man and
wildlife cannot be resolved, no
matter what efforts we make.

Safe wildlife corridors between
protected areas is an essential
aspect of conservation efforts.

India needs to declare more
protected areas and set up more
tiger reserves.

(b)

()

(d) India’s National Parks and Tiger
Reserves need to be professionally

managed.

80. With reference to the above passage, the
following assumptions have been made :
1. The strategy of conservation of

wildlife by relocating them from one
protected area to another is not
often successful,

2. India does not have suitable
legislation to save the tigers, and its
conservation efforts have failed
which forced the tigers to live
putside protected areas.

Which of the above assumptions is/are
valid?

(a)
(b)
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

[ P.T.O.
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T.B.C. : CYRF-S-TXLD Test Booklet Series

Serial No.

100905 TEST BOOKLET
il GENERAL STUDIES

Paper—II
Time Allowed : Two Hours Maximum Marks : 200
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS
TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS, ETC. IF SO,
GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Raoll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/ discrepancy will render the Answer Sheet liable for
rejection.

3. You have to enter your Roll Number on the Test Booklet in the
Box provided alongside. DO NOT write anything else on the Test
Booklet.

4. This Test Booklet contains 80 items (questions). Each item is printed both in Hindi and English. Each item
comprises four responses (answers). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the
Answer Sheet.

6. All items carry equal marks,

7. Candidates belonging to persons with Benchmark Disability (only blindness and low wision
sub-category) should not attempt questions, where data interpretation (charts, graphs, tables, data
sufficiency, etc.) is required. Question numbers of such questions are highlighted in the Paper
[ if Question No. 1 is highlighted question, it would look like il ). Marks of these questions will be
distributed equally amongst the remaining questions for such candidates.

8. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, yvou have
to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission
Certificate.

9. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take away
with you the Test Booklet.

10. Sheets for rough work are appended in the Test Booklet at the end.
11. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE.

(ij There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that guestion.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question,
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